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There is a *Cool-off time” of 15 minutes in addition to the wiiting time.

Use the *Cool-off time” to get familiar with questions and to plan your answers.
Read questions caretully before answering.

Read the instructions caretully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer all the questions from 1 to 7. Each question carries | score, (Tx1=T7)

Which of the following is a function of middle level management ?

(a)

(b

(c)
(d)

Formulation of plans and policies.
Directly oversee the efforts of workforce.
Co-operate with other departments for smooth functioning of the organization,

Analyse the Environment.

F.W. Taylor’s functional foremanship is an extension of Henry Fayol's

function,

{a) Scalar chain

(b} Order %
{c) Division of work

(d)  Discipline

Complete the series.

Globalisation : Integration of various economies of the world into a global economy.

St 2
Liberalisation:  ~

Which of the following is not a part of Responsibility Centre 7

(a)
(b)
(c)
d)

Cost centre
Profit centre
Investment centre

Management centre

The cheapest sources of finance is

(@)

Equity share
Retained eamings
Preterence share

Debenture
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2048

The settlement cycle in NSE is
(a) T+5 (by T+3

(c) T+2 (dy T+1

Which of the following firms emphasizes on products benefits to customers rather than
products aftributes ?

(a)  Product concept
-(b) Market concept
{c)  Sales concept

{d)  Production concept

Answer any 7 questions from 8 to 15. Each carries 2 scores. (Tx2=14)
Write any two objectives of personal management.

*Communication from top to bottom should follow the official chain of command.™

(a) Identify the principles of management mentioned above,

(b} . Name the shortcut proposed by Henry Fayol for Speedy communication.

List out any four types of tests used in selection process,

Describe the concept of trading on equity.

Draw the pattern of any two types of formal communication network.

Name any 2 important Acts framed to safeguard consumer interest in India.



Explain the importance of delegation. (any two)
Give any four features of marketing,

Answer any 4 questions from 16 to 20. Each carries 3 scores. 4x3=12)
Gopu argued that profit is the only organizational objectives of the business.
{a) Do vou agree with him ?

(b) Give reason.

“Though planning is an important tool of managerhent, yet it is not a remedy to all

problems.” Explain this statement.
How can an organisation overcome the barriers to effective communication ?
Describe the features of a good brand name.

Consumer grievances are redressed by the three tier machinery under the Consumer

Protection Act. Name these three agencies and their jurisdiction limit.

Answer any 4 questions from 21 te 25. Each carries 4 scores. (4% 4=16)
Write one example of the following plans : l/\\s

{a) Rule

(b) Policy

{c) Programme

(d) Objective

It is important for a business enterprise to understand its environment. Why 7



23, Explain the limitations of controlling.

24, “Advertising misleads customers and increase the cost of product.™
{a) Do you agree with this statement ?

(b)Y Give reason.
25, “Entrepreneurship and Management are the same.” Comment your views.

Answer any 3 questions from 26 to 29. Each carries 5 scores. (IxS5=

26. Metro Ltd. engaged in the production of soap and it has purchase. production,
marketing and finance departments.

{a) Suggest a suitable oranisation structure.

(h) State any two merits and demerits of this organisation structure.

27. It is the market for short term t'un& which deals in financial assets whose period of

maturity is up to one year.”
(a) Identity the type of market reterred above.

{b) Briefly explain the various instruments used in this market,

I8 Hantex offers 30% discount for all their products during Onam season as a part of their
promotion technigue.

{a) ldentify the promotion technique used by them.

(b) Explain any 2 merits and demerits of this technique.

20, Explain the functional foremanship technique with a diagram.
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Each carries 8 scores. (2x8=10)

questions from 30 to 32.
30, Tt is the process of identifying and choosing the best person out of a number of

prospective candidates for a job.
(n

Answer any 2

(a) MName the process.
(N

(b Explain its steps.

31.  Explain briefly the elements of directing function.

32, Describe the factors that affect the capital structure of a company.
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